ATB
Sholout Toe Board for use with a level pad

65.5°
Throwing
Sector

2 n
Sector Line

HS/NCAA //AAF
\ Compet/t/on

\ /

7-0" dia.
Shofout Circle

o o .. A A ~ | A
s ° 0 BB, 4a, Mg B T N R S <° a
o S v v A N s AV T AN A" Yo A °

q P N o ew e A ge o A 7, o [N

v A o A A °4a < & > A v

o o © ° ° o A o 0 0N o Do . Ao ° ° o Yo o

B v e h AV oV Ay ea Vorndabd aT pe g B T TP A6 g b

©.% o o .. 0o o© o o °.° O 5o o o L ooo O o o ° 0,0 000

0.0 UQ? §°0°°°ao °O°°0u°°00°0<)°:°o°ooeo°° < 5003"& %o © 0,00 OQO:OO o

nHAaAHN
—nl}—
4-1/2"

Rev. A-1/6/05 - 2" Sector Line aligned with correct 34.92 deg. rulings.

NN
/AN
<
<
V777774
(LTI

ALUMINUM
ATHLETIC

EQUIPMENT
1000 Enterprise Drive, Royersford, PA 19468
Phone: (610)-825-6565 Toll-free: 1-800-523-5471

DESCRIPTION

ATB - SHOTPUT TOE BOARD

SECT/ON "A-A"

MODEL NO.

ATB

ITEM

DATE:

DWN. BY:

REV.

A-1/6/05

11/07/91
DWGNO. 4 pop

Copyright ® 1999 Aluminum Athletic Equipment Co.




ATB - [somelric Assembly
Shotput Toe Board for use with a level pad

ALUMINUM
ATHLETIC
EQUIPMENT

1000 Enterprise Drive, Royersford, PA 19468
Phone: (610)-825-6565 Toll-free: 1-800-523-5471

DESCRIPTION

ATB -ISOMETRIC ASSEMBLY
MODEL NO.A - ITEM DATE: g 14101
DWN. BY: s/C REV.  [DWG.NO

045

"AAE-104

Copyright © 1999 Aluminum Athletic Equipment Co.




ATB (for use with a level pad)
SHOTPUT TOE BOARD
INSTALLATION INSTRUCTIONS & PARTS LIST

INSTALLATION:

1. Position the toe board (Item no. 1) in place. The inner edge of the toe board should
line up with the inside diameter of the painted circle, and be centered in the
throwing sector (See Drawing No.AAE-69 for diagram). Establish the locations for
installing the concrete anchors.

2. Remove the toe board. Using a 3/4" diameter masonry bit (not included), drill 2
(two) holes, 2-1/2" deep, at the marked locations.

3. Install concrete expansions shields (Item No. 4), threaded side down, into the holes
and tap flush with the concrete surface.

4. Set toe board back into place and attach with 3/8"-16 x 2-1/2" machine bolts, and
3/8" diameter washers (Item nos. 2 & 3). Tighten bolts firmly to expand concrete
anchors into place.

PARTS LIST:
Pt# ltem Description Qty.
1 ATB Toe 4" high x 4-1/2" wide x .250 wall, cast aluminum toe 1
Board board, 4' sector

2 Bolt 3/8"-16 x 2-1/2" S.S. 2

3 Washer 3/8"-16 S.S. 2

4 Expansion 3/8"-16 x 2" Loxin machine bolt concrete double 2

shield expansion shield
K:\AAE Data\PDF Files\Product Instructions & Parts Lists\Track & Field\ATB\ATB Assembly Instructions.doc

Copyright © 2000 Aluminum Athletic Equipment Co.

Page 1 of 1




	ATB (Packet).pdf
	aae-69b.pdf

	ATB Assembly Instructions.pdf



